=
<

(0 @) (rad)

1072

1

2 3
TPlpoT (PCA t%obeamlinélf)

a(d cot(d))

10

Ratl

105

iy
TTTT T T

0.95

107

1

2 3
TPlpoT (PCA t%obeamliné[f)

—s=— DQM_V0001_R000000001__Global__CMSSW_mktt50i7_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i4_RECO

SICEWATL

1—3 L

.

o uver .
T r 1
o4 r 1
L i e
0.95— :2 5
10 ! TPlp?T (PCA t%obeamliné'f)
n=
2
o
o
o
5

O O AT OCCE]

0100 ———rusl bl
@ r 1 g
x r :
b T4 T
0.950 :
101 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

oo a,) (cm)

z

1



	Contents
	Page 1


